
[15-112] Lecture 14



A. [1,2,3,4,4]
B. [1,2,3,4]
C. [1,2,3]
D. This will crash 

with an error
E. I don’t know

L = [1,2,3,4]
M = L + [L.pop()]
print(M)

Lecture 14 Poll 1 (SOLO)
What is the output of the following code?



A. [1,2,3,4,4]
B. [1,2,3,4]
C. [1,2,3]
D. This will crash 

with an error
E. I don’t know

L = [1,2,3,4]
M = L + [L.pop()]
print(M)

Lecture 14 Poll 1 (GROUP)
What is the output of the following code?





Lecture 11 Poll 2 (SOLO)
See sandbox.



Lecture 11 Poll 2 (GROUP)
See sandbox.


